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1) All questions are COMPULSORY.
2) Figures to the right indicate FULL marks.
3) Answer to both the sections should be written in SAME answer books.
SECTION-I
Aptitude (Math’s & Logical Reasoning)
Q.1 Answer the following questions: (16)
a) The compound interest on Rs. 30, 000 at 7%. Per annum is Rs. 4347. The
period (in years) is.
b) If the simple interest on a sum of money for 2 years at 5%. Per annum is Rs
50, what is the compound interest on the same amount at the same rate and
for the same time.
¢) A man invested an amount of Rs. 8000 in a fixed deposit scheme for 2 years
at compound interest of 5%. Per annum. How much amount will a man get
on maturity of the fixed deposit?
d) How long will it take for a sum of money to grow from Rs. 1250 to Rs.
10,000. If it is invested at 12.5% p.a. simple interest.
e) A, Band C play cricket. The ratio of the runs scored by A and B is 3:2. The
ratio of the runs scored by B and C is 3:2 together. They scored 342 runs.
How many runs did A make?
f) A fort has provisions for 60days. If after 15 days 500 men strengthen them
and the food lasts 40 days longer. How many men are there in the fort.
g) The present ages of A and B are as 6:4. Five years ago, their ages were in the
ratio 5:3. Find their present ages.
h) Divide Rs. 1500 among A, B and C so that A receives 1/3 as much B and C
together and B receives 2/3 as A and C together. A’s share is?
Q.2 Answer the following questions: (08)
a) How many kg of tea powder costing Rs. 31 per kg be mixed with 36 kg of tea
powder costing Rs. 43 per kg. Such that the mixture when sold at Rs. 44 per
kg gives profit of 10%?
b) Milk contains 15% water. What quantity of pure milk should be added to 50
litres of milk to reduce the quantity of water to 12%.
¢) Rani mixes 70 kg of sugar worth Rs. 28.50 per kg with 100kg of sugar worth
Rs. 30.50 per kg. At what rate shall be she sold the mixture to gain 10%
profit?
d) A container contains 50 litres of milk from this container 10 litres of milk

was taken out and replaced by water. This process is repeated one more time.
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Q.3 Study the bar chart and answer the questions based on it. (10)
Production of fertilizers by a company (in 1000 tonnes) over the years.
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a) What was the percentage decline in the production of fertilizers from 1997 to
19987
i) 33 (1/3)% ii) 20% i) 25%  iv) 21%
b) The average production of 1996 and 1997 was exactly equal to the average
production of which of the following pairs of years?
1) 2000 and 2001 iii) 1999 and 2000
i) 1998 and 2000 iv) 1995 and 2001
¢) What was the percentage increase in production of fertilizers in 2002
compared to that in 19957
i) 320% i)  300% iii) 220% iv) 200%
d) In which year was the percentage increase in production as compared to the
previous year maximum?
1) 2002 ii) 2001 iii) 1997 iv) 1996
e) In how many of the given years was the production of fertilizers more than
the average production of the given years?
i) 1 ii) 2 iii) 3 iv) 4
Q4 Here, you are given a question and a set of statements. You have to find (06)
which of the given statement is required to reach the answer.
Answer options:
i) Statement [ alone is sufficient
i) Statement II alone is sufficient
iii) Both statements [ and I together are sufficient
1v) Bothe statements [ and II together are not sufficient
a) Who is the tallest among the brothers A, B, C, D?
Statement- I: C is shorter than only B
Statement- II: D is taller than only A
b) What is the value of X?
Statement — I: x* +x—~6=0
Statement — II: x>0
¢) How is Bill related to Betty?

Statement — I: Cindy, the wife of Bills only brother, Chris does not have any
sibling.
Statement- II: Betty is Cindy’s brother in Law’s wife.
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SECTION-1I
(Verbal Ability)

Fill in the blank with appropriate options.

Being able to afford this luxury car will getting a better
paying job.

i) Maximize ii1) Recombinant

ii) Reiterate v) Necessitate
Brain’s pale Irish skin was to burn if he spent too much time
in the sun.

i) Prone ii) Urbane iii) Eminent  1v) Erect
Mary became at typing because she practiced every day for
six months.

1) Proficient ii1) Reflective

ii) Dormant iv) Redundant
With the entire recent negative event in her life she felt forces
must be at work.

1) Resurgent 1i1) Premature

i) Malignant iv) Punctilious
She reached the of her career with her fourth novel which
won the Pulitzer prize.

1) Harbinger iii) Apogee

i) Metamorphosis v) Dictum
The man’s driving resulted in a four car pileup on the
free way.

1) Burdensome ii1) Charismatic

i) Exceptional iv) Negligent
For a(n) fee it is possible to up grade from regular gasoline
to premium.

i) Nominal iii) Judgmental

i) Existential iv) Bountiful
The deer stuck close to its mother when venturing out
into the open of field.

1) Starling iii) Founding

i1) Yearling 1v) Begrudging
The rebel spies were charged with and put on trial.

1) Sedition iii)  Attrition

i1) Interaction iv) Reiteration
As beings we live each day conscious of our shortcomings and
victories.

1) Sensational iii) Sentient

1) Sentimental 1v) Statiz
Write the meaning of the each phrase and construct a sentence for each one.

i) Sitting on the fence vi)  Hard and fast rule

i1) By fits and starts vii)  Out of the way

iii) Spread like wild fire viii)  To bell the cat

iv) Through thick and thin ix)  Turn a deaf ear
V) A Bone of contention x)  Put aspoke in one’s wheel
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SECTION-III
(English Communication)

As supplier, write an email to the manager of m/s Big wheel manufacturing
company Mr. Chopra. Intimating of their payment that is due for the products
delivered to them three months ago sign the email as Ramesh.

Use these phrases — on time — delivery of goods, three months — credit period
— overdue — payment of the earliest, long standing — relationship.

What are the netiquettes of email writing? Illustrate with proper reasoning for
convincing email.
Write the answer of the following questions:

What is the cross cultural negotiation, How does it help to lead business in
smooth way?

Elaborate the critical factors for developing a corporate leadership?
State the various etiquettes of telephonic interviews for placement?

What strategies one should use to resolve the conflict in the corporate sector?
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